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If a cube is formed from the following
figure, then the number opposite of
face 5 is ;

2
5
|'6 | 4
E
(A) 3 (B) 6
(©) 1 (D) 2

In the following figure the letter opposite
of faceBis

If faces of a cube are marked by
some special pattern as shown in the
following figure, then what will bé the
number opposite to face 4 ?
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(A) 121
(C) 25
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come next in the series 4. Fae Sioft 3 syt wE e
’ 122343456 . . .

(A) 34567
45678

(C) 6789

(D) 3ulierd | & HIE Tel

5. ch Ot the fc f‘?Winé will come in 5. Frferfiaa srgerm 3 st (7) % T W
he question mark (?) in the = foyspet § @ == e 7
e 16D7, 18G10, 21K14, 25P19, 7

0, 21K14, 25P19, ?
(B) 30V25 @@0»(20 \LB')/ 0V25

(D) 29V25 (C) 30K24 (D) 29V25
6. ote wing series : "' 6. fafafad oft guf =1
N, ?, ZI B BN BZ 5T, NN, ?, ZB
" (B) sx jﬁé; (B) SX
- (D) TH | Y T (D) TH
% is the next alphabet in the following 7. Pfefaa it & svren gof st 8o ?
ies ZYXWTSRQNMLK
-.(\@\/' B) G
8 ' (C) H M
. 4
8. following series : - 8. faafaRad Ao w seEEE F
% T7B4#JEH2T i SQA5N%T7B4#JEH2T
)@ - D*18H3U@9FWEK
Which of the following is the seventh 39TEa Avft °§ FEft ST 15 9 & I 3
to th.e left of the fifteenth from the left 79t FETE 7
end in the above arrangement ?
@WH '  ®B8 (A) H o
©1 (D) 7 (C) 1 (p)/;‘
% & & fore wamm
Space for Rough Work
{ [ , J
f I ’ .
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9. The missing number in the following 9, o=t fam v
figure is : ]
6 | 6 |20 6 [ 6 |2
20 | 42 | 42 20 | 42 | 42
? | 72 [110 ? 172 i 3
(A) 110 (B) 45 (A) 110 '8 5
(C) 72 (D) 52 (Cy72 ’ 2
¥ 4
10. If ‘A’ means ‘+', ‘00’ means ‘—, ‘(Y 10. afd ‘A’ ﬂfﬁ il a0
means ‘x’ and ‘() means ‘%', then 1 37l B ' Au1 () Wil & <, T
302()1A602= : 302()146()2
(A) 6 (B) 12 (A) 6 (B) 12
(C) 13 (D) none of these m (Bl & g e
11. If ‘0 means ‘Govt. Hospital’, ‘A’ means 11, gl 'O @ e § FHETATE, A" &l
‘Private Hospital’ and ‘O’ means aref R fisfl Srearer @ (O’ @1 od R
‘Corporate Hospital’, and number ST STEIATST, qeT Sy aral 1 qeEAnd
inside them denote the number of 398 wfafes &SR A N ) "EEr #
outdoor patients in them in thousand R i G
per day, then the maximum number of . ]
patients per day is in : 1 e H1
-8 S
O
3 3 3 238
3 ‘ 8 =
ﬁ 7 ﬁmi
3 3
(A) O (A)
(B) A By A
(C) O (C) O
(D) all the three have equal patients (D) &t =t A AF & de e R

T @ % e T o\
Space for Rough Work ¥ | (e QL
NS o
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Problem disc'l

Some friends
Following is 1
number of rasa

iv.
V.

12.

13.

14.

1/TF - B

te :
Gimmy ate -
Dilip and R
Jugal ate 8 Dilip
Akshay ate DQ
Akshay and W toget

e 37

How man
(A) 18
(B) 24
(C) 16
(D) None

Jugal and

rasaqullas
(A) 48

2-14:
ion about the

ay

er ate 40

 did Raj ate ?

—w—v-rvr---—',. -

.

“

(
I3
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are 6 s Q. 12 - 14
a5 e 23 frad 0 g 5 7 AT
mii'lﬂmm-?ﬁeﬂﬂwimﬁﬁ 1 @
o gu

i, faprefy 4 1A A 8 A @A

i far«ﬁuamuaﬁﬁammm
ni.wiﬁmaamm
iv. sy 3 fefiy @ 5 i @
v. s 3y foreft 3 firerert 40 @A

12. j;n}u'aﬁitaimgr-ﬁ'wﬁ?
18

24
| (C) 16
(D) Iwiraa d & #i§ T

f‘wmmammmm
@ ?

A) 48

{

(B) 36
(C) 40 ©)
(D) None @éﬂ | HI3 Al
If the cos as is 1 - 1
what was o i 1 Wﬁf;a;rﬁm 28, @ 3 g
to pay ? _
(A) T 198 (A) T 198 |
(B) % 200 L
(C) % 208 o), @)Zzos
(D) ijOne B (D) ‘;‘-ﬂ a Eh:rg -
L. ST B -
' i'N Space for Rough Work (\&%{E \LC? ) > ¥
] ¥ i i N q 4 3’7
4 Rl &cﬂq -9 W =)
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In the following figure the number of
triangles with any three of A, B, C, D,
E and F as vertices is

A A
B - B r
C \ E O |

D D ¥
(A) 11 (A) 11
(B) 9 (B) 9
©) 5 &rs
(D) none of these \M/Hﬁ GEAE

16. Number of triangles formed in the 16. =1 o= o =1 Pngsi 2

following figure is
A e D A 2

| |

L

F H F

J J
B C B

G G

(A) 30 (A)
(B) 35 dﬂ)}s’;
(C) 39 (C) 39
(D) none of these T § FIE &l

BT/PP ~M

gadl F#&

bt @ gt
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17. From wing fi'giure B 17. B fE® Wm fres
Rnd | debt lying with the 507 T For Aepl o € 9 & Sy
banks ectively

40

]

w
(=]

IDBI
SBI

(=)

=

o
"

CBI

N
(=}
AT (TR w0 ' H)
n
o

Loan debt (in thousand
crore Rs.)

(A) CE (A) CBI, IDBI

(B) CB

4 (B) CBI, PNB

(m/losl, CBI

(D) SBI, CBI

(C) ID
(D) SB

i |
18. If numeligal values of A, B, C,..., Z are 18. afRA B, C,..., Z % 3ifshe AT FHwal:
respectlilély1,2,3, ..., 26 and ‘O, ‘T, 2,8,y 26 8 @00, ‘A, (Y
1t respe _iv,ely=l‘+’, = j H, =, ), ), R S R R
h BATOJOHOK =
e
(B) B
C
| @2z
2 b ic T & & fore vams N o 1
2 ) q’ | _ ‘5’"6 ~ Space for Rough Work i 0 ‘p+% q
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19. A cardriver knows four different routes

21.

22,

from Delhi to Amritsar. From Amritsar
to Pathankot, he knows three different
routes and from Pathankot to Jammu
he knows two different routes. How
many routes does he know from Delhi
to Jammu ?

(A) 36

(B) 24

(C) 12

(D) None of the above

Awomanhas Rs.4,800inthe denomination
of ten rupee notes, fifty-rupee notes and
hundred rupee notes. The number of
notes of each denomination is equal.
What is the total number of notes ?

(A) 60

(B) 90

(C) 30

(D) None of the above

In the following series, find out the
“Wrong number”.

28, 84, 112, 196, 308, 504, 872, ....
(A) 308 (B) 112

(C) 872 (D) 196

Which term will be the first negative
term of the following series ?

45, 40, 35, ....

(A) 10" term

(B) 11™"term

(C) 12"term

(D) None of the above

%

198

20.

21.
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00 0 A

-10-
Q.23 25 gara 6l A1 Q. 23 - 25 ;
cing North FR B o 7 TR AR U R & e
N8 right of i. TgesiEn o et 37 8 af el ® ;
N the left end : ii. IR B A fiehl 167 2 ;
Pl the right of i, ST, S % gRft 3R 16 97 2, o1 @
- s .- from the right qRfi AR 27 af & 3
iv. VA i .
8IS nearer than Mickey iv. w,ﬁﬁaﬁaﬁmw%?@@?%ﬂ
end of t 16 : % : ‘|
V. D8N o 0
P Ciers between Mickey v. Toehi ot gesran & <ftwr 5 A 2 |
23. soldiers are there bétfrveen 28. SISy SR 3R i F S Ay v
Jackson afd Mi . 3 |
o ?
(A) Two (A) =
(B) Onefis
(C) Thre ’ (C) :n:
(D) Dat | r (b) 121 37quf
24. How mat S él_j{ﬁ are there in the 24. AR W A foha Af F ?
row ? . \
(A) 36 (A) 36
(B) 40 40
(C) 50 | ’ (C) 50
(D) Data ifadequate (D) sTer 3quf
E L I 8 y .~ ' ‘
B A T wE % R A
vy : f Space for Rough Work > 5
-l
¥
I" w}! A
J " - e — !
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26,

26.

27.

How far away Is Jackson from the ri
and of the row 7

(A) 24"

(B) 26"

(C) 27"

(D) Data inadequate

If Ram Is in the West of Shyam and
Karaem s in the North of Shyam, in
what direction Is Kareem with respect

to Ram ?

(A) North-East
(B) South-West
(C) South-East

(D) North-West i
N

In the following figure the numb ¥ f

triangles with any thresf t'l;\ﬁ vertic

0,0, .0, 0,0, 0, i

IJIA%'
SOB
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NN DA
\ O NG , 0, NO, A0,
(A) 9 (B) 13 ' ¢m4: 8) 13
(C) 12 (D) none of th (@2 D) 394 @ g 7
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28, Missin -
figure i %@9"‘"“9
2
12
5
) 0 ) 13 B0 8) 13
(C) 11 ) 8 ©) il (D) 8
29. Missing | e following 09, fam fom & faqwd w1 8
figure is
S 0 SRR Lo
S i Wiz E
1 e 17ENRL 2
? 5 ? 1 3 5
)
(A) 0 ) 3 -0 (B) 3
(C) 5 (D) 2 (C) 5 (D) 2
30. The mis gm der in the following | . 30. fm fom & fagge T 2
figure is e N
=
7/ 7 ? i3
13 | 1 | ) 18| 2 |14
19 | 1 %= 19 | 14 | 9
(A) 20 % (A) 20
(B) 10 | \(9)/10
(C) 11 \ (C) 11
(D) 22 e (D) 22
3N > e T & o foig v o
' Space for Rough Work 4
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PART — lI
GENERAL KNOWLEDGE mm
31. Arrange the ocean deposits starting 31, TR I8 ) TegE o o1 WS E
from top to bottom. :ﬁﬁ%mﬁmﬁﬁaaﬁﬁm |
1. Blue mud 1. ieft 9
2. Red clay . 2. A i
3. Caleareous materials 3. gAY Yered
4. Siliceous materials 4. fafeasr 99 gerl ;
(A) 1,2 3,4 (B) 1,8,2,4 (A) 1,2, 3, 48 (B 3, 2, 4
() 1,3 48 4,2,8

(@) 1837442 (D) 1,4,2,3

Which of the following is happiest 32, 2018 1 fava 1 g1 9

country in 2018 ?

(A) Norway (A)

(B) Denmark

(C) Finland

(D) None of above (D) I H IS &l

Stalactite and Stalagmite are found in 33. YAy R FygaRa e srar @

(A) Kutumsar Cave M T
(B) Bango Cave : (é(ai!ﬁ THT
(C) Dandak Cave (C) cew T
(D)

D) Aranyak Cave (D) 3wg<h %I

The disease sickle cell anemia is

caused by ‘
(A) Iron deficiency Mmﬂ <! HHl ‘
B) Malarial Infection (B) HeifT 1 - heH

(
(C) Poor hygiene (C) ™ | ?
(D) None of above (D) TR & 7
™ & o fore e
Space for Rough Work
Set-C
) |
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36. I@Wiﬁg banks must
ash Reserve Ratio)
Ve Bank of India ?
Ctor Banks

Cial Banks

L,

)

ove

37. jluarters of World Trade

38. , 3
(B) Maharashtra

(C) Gdjitat (D) West Bengal

GET IT ON

3 fire J1  foru sevas @ ?
(A) Tt e & S
\/(,B)/mﬁwamﬁ%ﬁ

(C) =fi Fsft <fh

(D) Sulied H HI5 T8l

37. fava AT Gued 1 G Fel o ¢

(A) s
(B) —xrh

(S

(D) 39 | h1s 481

38. WY U FETR ?

W sifsan
(C) Tsitra

(B) HamTSe
(D) ufvaw =iel

T wE & foro v
Space for Rough Work
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Who is known a father of modern 39. STHANTH I S £ e A8 ¢
genetics ? .

(A) Hargovind Khurana (A) ‘ﬁ'ﬁﬁﬁlgtm s u

(B) Charles Darwin (B) =med <Afim

(C) Gregor Mendel \(Q)/ﬁTnT agE \

(D) None of above (D) It 3w

What is Sri Harikota ? 40. #f ikl R R 7 |
(A) Satellite Launching Center \Wm}qmﬁ P
(B) Thermal Power Center (B) a9 fo=qa &=
(C) Hydro Electric Center (©) Wﬁgﬁ%ﬁ

(D) None of above . (D) S # =hig &

By which Institution was “continuous 41, %o FRTE ¥ e U il e S
and comprehensive evaluation” started Torg w2 g BINE &

in school education ?
(A) CBSE " ey, 3.
(B) UGC (B) 3.Sit.t.

(C) SCERT (C) w. . §. s, &
(D) IGNOU (D) T (37500, 303.

T wE % forn e
Space for Rough Work
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FraIfeed ot ¢
(A) forar
, (B) nfean
i g

(D) ST & HIE T

!‘
l |
1 44, S @1 ey afe s wrefaa g 2

L \(A)/
(B) srafn
(C) Tm

(D) 39 H S e
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of s upreme Court .
 Howi ; 1 in which of the 3 gy & mﬁmt
l:di(; 2] Al Constitution of
o (A) 124(2)

(B) 124(8) \M24(3)
E 1 (C) 124(4)
" (D) s & F T

49. Artcle 3
related te

itution of India is not 49. WA & gfauE & 3TT=% - 3
of the following ? 2 frga gafa Adi 8 7

(A) Incréase in area of a State (A) foft T 1 &Rl FGIT
(B) Alterthe a‘ aries of a Stéte Tordt T &l ¥ﬁm3ﬁ H Qf{a?h
(C) Alter  name of a State () et T & A # e
(D) Nonelof the above Iqled | HIE A
°0. Right to peperty was removed from | 50. “Rd ¥ Gfyum &1 1l & &wafr 1 A

Part 11l o ' Constitution of India by : 2 ?

. , ; e HNeH gRT 82/ TR |
which of the following Amendment of ke s
Constitution of India ? }
(A) 42" Amendment (A) 42 9 gy
(B) 43 Amendment (B) 43 3 "3NEq
(C) 44” Aendment (O 443 g
(D) None @f above , (D) 3w # HIE 7€

@ ®A & forg v
Space for Rough Work
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56.

574

55. That effy

behavit
to his D
called
(A) Expi
(B) Selfs
(C) Pyg
(D) Haw

A child is
of a pers
this type
(A) cont
(B) field
(C) fieldy
(D) free

psychola
outcome

variable, DAsIS ge
(A) Reac “
(B) Thre
(C) Refle
(D) Gene

- T

56. @mﬁ%ﬁ%mqﬁ%@%i

GET IT ON
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55. anazazﬂaﬁusf‘mamtﬁ i 31

& v 1 e € @ € sfw e
aftafda @ el B, H

3 Seg € 418 71 Sd1 2 | 39 9%E i HAfE
dchaw FRSEIR
(A) 31| Il

BER=GE R
(C) &= 3nfya Aeh
(D) wad el

E— ARk 2 _
T et uftaed @ fad ™ samy
Arqafe wew (Rtere) w gty
3oy (frersw) 3 war o R R s

prz -

(B) H=€iH1 yER
(C) wfdad war
(D) raTf¥E SHR
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100. Choose the correct sentence
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